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Question Number : 1 Question Id : 70819114619 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819148661.

70819148662, -

70819148663.

70819148664. °

Question Number : 1 Question Id : 70819114619 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT, ‘]'|9 xj|dx GE B2 T
-4

Options :

70819148661.

70819148662.
70819148663.

70819148664.

Question Number : 2 Question Id : 70819114620 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geomelric Progression is 3 and the sum of the

9
squares of its terms is s The sum of the cubes of its terms is :

Options :
31
70819148665,
108

70819148666. 1°

m| ~

70819148667.

5
70819148668. 7



Question Number : 2 Question Id : 70819114620 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4 £ " 9 ; i
AW QTITEg A *meEg TS 3 @92 o .Wﬁﬁﬂﬁﬁ'ﬂﬂ%;l wE I emeEE Wi

TH9FE 29 ;
Options :
31
70819148665,
108

70819148666. 1°

M|E:i

70819148667.

5
70819148668. 7

Question Number : 3 Question Id : 70819114621 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819148669, F =P V4

70819148670. P9 =P

70819148671, P PV @) v (~g)



20819148672, (P ¥ "P)~ (v (~q))

Question Number : 3 Question Id : 70819114621 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
«Z Boolean expression ofera T TG tautology 209 ?

Options:

70819148669, F = P V4

70819148670. (P9 =P

70819148671, P PV @) v (~9)

70819148672, P ¥ "P) A (@ v (=)

Question Number : 4 Question Id : 70819114622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let |a| <1, [bl<1, |c|<1 and xzj_;a",y: l b" z= lc". If

n=( n=() n=(

1

are in Arithmetic

1

| =

Progression, then :
Options :

70819148673, & b and c are in Arithmetic Progression

70819148674 a, b and c are in Geometric Progression

70819148675, & 2b and c are in Arithmetic Progression

5 e o
20819148676. a, b and c satisfy 2b-=ac



Question Number : 4 Question Id : 70819114622 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
'r: .'z._ :1._ @ _l l :

47 [al <1, b|<1, k|<1 @@ x=VY a", y=Y b", 2= Y "1 W = = T TR e =,
] w F ] e X |l||I £
n=( n=( n=( 3

e

Options :

70819148673. d, b @92 ¢ FNTES TH 'Q'\.-Ei 24

20819148674, & b T ¢ B TIATE 2T

20819148675, & 2b @A% ¢ A THAYE 2

20819148676, & P 9 ¢, 2b*=ac @& 1 Fra T3

Question Number : 5 Question Id : 70819114623 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,; MmZ+7n+5
e

1S C‘qual o :
|
-1 I‘Ia

Options :

70819148677, 19e+5

70819148678, 19¢—5

70819148679, 16e—5



70819148680, 16€—7

Question Number : 5 Question Id : 70819114623 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2I.T’nl5

{: 2n
. al U I T
= !

=1
Options :

70819148677, 12e+5
70819148678, 19e—5

70819148679, 16€—3

=]

70819148680, 16€-

Question Number : 6 Question Id : 70819114624 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 1070+ (3% (4)°2)+ A is divisible by 9 is :
Options :

70819148681, 2

[F5)

70819148682.

|

70819148683.

[==1

70819148684.



Question Number : 6 Question Id : 70819114624 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M 1050+ (3 X (4)52) + A, 9 =41 [oTey =0, O3 A 97 FAT 4GS SN T A ;
Options :

70819148681, 2

70819148682.

|

70819148683.

70819148684, 1

Question Number : 7 Question Id : 70819114625 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819148685, 455

70819148686. 421

70819148687, 435

70819148688, %!

Question Number : 7 Question Id : 70819114625 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&3 TA Tl TR 4R TR qUa 4%, 56 @32 6 7 wrml qw @ 4% 7 a1
o @@ 9099 TR AR M @2 @ fely R e fom i T Rem 03 W@ 7 A,
A FO4M 98 2@ WA [99ewa fomty 177y i I0a oI 92 233

Options:

70819148685, 432
70819148686, 421

70819148687, 435

70819148688, %1

Question Number : 8 Question Id : 70819114626 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
| ax—b

Ify= —_1] has an extremum at the point (2, —1), then the values of a and b are :

(x—1)(x
Options:

70819148689, @=1 b=
70819148690, 2= b=1

70819148691, 2 =0, b=-1

70819148692.

Question Number : 8 Question Id : 70819114626 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b

TMy=—" @<l R e g (2, —1) W @ a @32 b @7 T A :
(x—1)(x—4)

Options:

70819148689, =1, b=0

70819148690, 2= b=1

70819148691.

70819148692.

Question Number : 9 Question Id : 70819114627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Thcdﬁﬁnaﬂxﬂmmnthepbnm&?-{2?Ij 2}’|5=0 mml?-lﬁlej 6}JI2=Ois:

Options :

70819148693. 19
70819148694, 4

70819148695, ¢

70819148696.



Question Number : 9 Question Id : 70819114627 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T \2i 47 -2k)+5=0 @3¢ T (67 +3 ] ~6Kk)+2=0 ez w2 7w = ;

Options :
o)
70819148693, 19
15

70819148694, 4

70819148695, Y

70819148696.

Question Number : 10 Question Id : 70819114628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 :
The probability of solving a problem in Mathematics by two students X and Y are 1 and 5

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options :

70819148697, 20

70819148698.

70819148699, 2U



b

70819148700. 2V

Question Number : 10 Question Id : 70819114628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

meﬁﬁmﬁmWWWﬁﬁmwwwmm%m%|ﬁmmw#ﬁma
FAYW FA9 58 (9, T4 (FAE GG T FAE ©F HGAA 4
Options :

&

70819148697, 20

70819148698.

70819148699, 2U

.

70819148700. 2V

Question Number : 11 Question Id : 70819114629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The polar form of the cnmplex number 14 { is oqual to:

1—1

Options :

—_ —_

cos — 4 z':;in;_r—'
70819148701. e =



il . & il
OS5 ——185INn—
) >

70819148702. < <
cosi Fi !ainE

70819148703,  * =
cos i { :arinE

70819148704. ' '

Question Number : 11 Question Id : 70819114629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Eﬁaﬂﬁ_llfﬂﬁﬁ@m_ﬁ:

1—1
Options :
cnsz I isini
2 2
70819148701. ¥ ¥
cos % { sin%
70819148702. = -
cnsi I fsini
70819148703,  * =
cos 1 i ﬁinE
70819148704. ' ;

Question Number : 12 Question Id : 70819114630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :



Options :

]

70819148705.

70819148706. -

70819148707.

70819148708, 1

Question Number : 12 Question Id : 70819114630 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&3 FREAT (1, 0) €2 (3, 0) FYTT AT 2 : 1 TS [Mo@ @ a2 & @09 B[ a9 O
HTFA ax =7 T0A, a G T A :
Options :

I

70819148705.

70819148706. -

70819148707.

70819148708, 1

Question Number : 13 Question Id : 70819114631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle 1%+ y>~2v=0 with respect to
the line x+y=2, is :

Options :



70819148709, X TY*—2x+4y+3=0

"

X -+-y3---4x—2y+4=g

70819148710.

PR I A T
70819148711, 2@~ +y) —x+y+1=0

2 A N T al
20819148712, ¥ Ty —2x—4y+3=0

Question Number : 13 Question Id : 70819114631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x +y=2 FEEAAAE ACATE 12 + 12 —2x =0 J0&q wofel afelar Jran seae 203

Options :

70819148709, X ty* —2x+4y+3=0

"

20819148710, X H ¥ —4x—2y+4=0

e S R T
70819148711, 2" ty) —x+y+1=0

2 2 SOy TR il
70819148712, X Yy —2x—4y+3=0

Question Number : 14 Question Id : 70819114632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

,

(x+1)° U
3 32

Equations of the common tangent of the ellipse =1 and the circle

(x+1)2+ (y—1)>=4 are :
Options :

70819148713, ¥13=0 and x~1=0



20819148714, ¥ —3=0 and y+1=0

70819148715, ¥ 1t3=0 and x—1=0

y+3=0 and y—1=0
70819148716.

Question Number : 14 Question Id : 70819114632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@+ ﬁ'l)“ =1 Tga @@ (x+1)2+ (y—1)2=4 099 TMqae =pirea TR A :

0? 32

Options :
20819148713, Y 13=0 43 x-1=0

70819148714, ¥ ~3=0 R y+1=0

20819148715, ¥ 13=0 493t x—1=0

1: E — |
70819148716, ¥ T3=0 L y—1=0

Question Number : 15 Question Id : 70819114633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1l a
If A= [“ J , then Ak (ke N) is :

Options :

70819148717.



1 kza

0 1.
Tk ka

0 k

70819148718.

70819148719.

1 ka
0 0
70819148720.

Question Number : 15 Question Id : 70819114633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 .-x=[1 .

; 1},m.ﬂhk{kem] € T =3 ;

Options:

70819148717.

70819148718.

70819148719.

1 ka
0 0
70819148720.



Question Number : 16 Question Id : 70819114634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
.1'1 + .1'2 + .1'3 =5
Xy +2x,+3x,=9
xy+3x;+sx3=t

has no solution, are :

Options :

70819148721, S=2 t=13

70819148722, S#5

70819148723. °

70819148724.

Question Number : 16 Question Id : 70819114634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xy+x,+ 13=5

xl+-3xz+-51'3=t
s @d2 t O TSF AT T GTRE (T T FEd 797 7
Options :

70819148721, 5=92, =13

70819148722, S=5

70819148723, S=> t =13



70819148724, 1# 13

Question Number : 17 Question Id : 70819114635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. b 4 1 2x ) 3 | i 1 ( 2x )
Derivative of tan ‘ 5 | with respect to sin 5 | in (1, ), is:
k.] . k_1 | _l"',J
Options :
70819148725,

70819148726. ~ !

70819148727.

2

70819148728.

Question Number : 17 Question Id : 70819114635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 2x ) - 2
sin 1‘ 7| @@ AT tan 1[ | @@ wREE A, (1, ©) @ W ;
k].|.3L'_/. k.]_ x4
Options :
70819148725. :

70819148726. ~ !

70819148727, ©



2
70819148728. ~

Question Number : 18 Question Id : 70819114636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— —» — —
‘C‘

=1, It a><|a><c t b=10, then

—_ -3

Let a, b and c be three vectors such that ‘a‘:

b= —
2

— .—>
the acute angle between a and ¢ is:
Options :
am
&)

70819148729.

NE

70819148730.

o
q

70819148731.

5w
12
70819148732.

Question Number : 18 Question Id : 70819114636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks 01

:g—llﬂfﬁ ax[axc +b = U_Caatﬂ?l"

—}‘

arfﬁa,hmwfmﬁmw‘

a7 T TH T
Options :

u
b

70819148729.



NE

70819148730.

w
70819148731, ~
5w

12
70819148732.

Question Number : 19 Question Id : 70819114637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +1?)dx = (tan~ly—x)dy is :

(where c is an arbitrary constant)
Options :

tan "y
70819148733.

i 1, ; e I
70819148734, /- tan ¥ 1tce

_ -1 --tan"lj.;
70819148735, Y tan y-ltce

70819148736.

Question Number : 19 Question Id : 70819114637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1+y?)dx=(tan~ly—x)dy 9% SRS FASACHT AL 2 :

(c, <=5 AT FIF)



Options :

! -1 —tal‘l"lj.l.r
70819148733, *~ 1 tan ‘ytce

1 tan 'x

70819148734, V=0 y-1tce

- -1 —tan_lj.;
70819148735, *tan 'y ltce

70819148736.

Question Number : 20 Question Id : 70819114638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3

W . % .
The values of x, for which the vectors a = (xz 16)1+4 j— (x"—25)k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :
70819148737, 17> ~4 v 143

70819148738, [ 72 4) W (=4 5]

70819148739, (72 ~4) v (& 5)

70819148740, >V (=4 9)

Question Number : 20 Question Id : 70819114638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

© &9 T WA T 2 = (:2-16)i |4; (2 -25)k TeRT wmaE WY fired e TPH



Options :

70819148737, L => ~4 < 4. 5]

70819148738, |2 4) v (=4, 5]

70819148739, (72 ~4) v & 5)

70819148740. (=5, 4 U (—4,5)

Mathematics Section B

Section Id : 708191526
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191806
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819114639 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx is
)

Tj |1+ cos2x
-
uﬁ"l

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819114639 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

= dey (@I I |

Tj T+ cos2Zx
3 Y 2

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819114640 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819114640 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Otanf +4cot?) T FFF IM T@ |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819114641 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

"
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819114641 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5 x+6 y-7 z-7 ;
(1,2, 3) 7 e : =j,) = —~ TR ToE 77 WY XA

F

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819114642 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g Sl
If log, 2, log, (2* - 5) and Iog;;' iy % | are in Arithmetic Progression, then the value of x is
2)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819114642 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

f Fi ;
i log, 2, log, (25~ 5) @3¢ log, | 2° ’;\ﬂmmﬁ‘m qFA A TIZE
3 2 10g; - (i

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 25 Question Id : 70819114643 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S W
If x24+x+1=0, then J{I i| l |ﬁx2
x)

|\

Response Type : Numeric

4 22
| |fx3 i\ l is
' 1’3/' ]

=
.1'2 s
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819114643 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
g 1 \2 1 \2
i 2241 +1=070 TA J.{x 4 ||"x2 = ||”x3 e
[‘ X ) |\ :

X/
Response Type : Numeric

| amma

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114644 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x> +y?—4x—2y—-11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819114644 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(4, 5) % 1@ 224+ 2~ dx— 2y~ 11 =0 J0EA TR o s o 391 29, @ =R @3e @
0T e AT W ] S SSEa e TA (I @) |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819114645 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials isequal to .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819114645 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

faom foraeiel, Toaw @@2 TR T3 15 ¢a2 O F0efa TS 117 | 94 Sifen 4058 3 T4
A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819114646 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular

to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c|)=1,
then |at+b+c+d|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819114646 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T AWEA (1, 2, 6) €33 (2, 5, 7) qord @a2 dx—y+z=15 eeR T 73 TG A
axtby+cz+d=01 7 a, b, c,deZ, ged (ja), b, |c])=1TT3 jatb+c+d| €3 T4 23
|

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114647 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dr 7w .,
The number of real solutions in the interval [ ' -‘ of the equation 4sin“x — 8sinx + 3=1

15

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819114647 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[ f; %} TR T4 dsin®y — Ssiny +3 =0 FAPACTE G TG R LA
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 30 Question Id : 70819114648 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1,110
Let Aj, Ay Ay o be an increasing geometric progression. If T4 \_{.,_h_ﬁ and

A:A.=441, then 3(A,+A,) is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819114648 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
I I 10

41 Ay, Ay A, ... @3 FWRYTT gromey wad | W, A, A, 8 9
AA, =M1, TEAZA+A) @ T |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Aptitude Test



SectionId : 708191527
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191807
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819114649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following is the full form of the “‘UNESCO" ?

Options :

70819148751 United Nations Educational, Scientific & Cultural Organization.

70819148752, United Nations Educational Sc-curit}-' Cultural Drgani_zatifm.

70819148753, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819148754.

Question Number : 31 Question Id : 70819114649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ferfeifirecna T TG STAcE’ (UNESCO) @ #ofehef ?



Options :
20819148751, AT AR FrenEre, (FEiae @@ AFReE waa

20819148752, TAE T FrERETs Jw! M Ffos Heston

70819148753, VAT G AT FF TIF AL

70819148754, T ACEA FEES, ODRAR @3¢ AFIEF Ao

Question Number : 32 Question Id : 70819114650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819148755, D-(1), (ID-(@), {D-(d), (IV)-(c)

20819148756, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819148757, D@, (ID-(b), (ID)-(c), (IV)-(d)



20819148758, OBy (Ha), (<), EV)Hd)

Question Number : 32 Question Id : 70819114650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SifeTei-1 «a A Siferi-11 T8 |

Siferasl-1
(I) == SF = (a)
(I) TS, CoDETeT- (b)
(II) TR GreamE (c)

(IV) TREbEas (d)




Options :
70819148755, (-(b), (ID-(a), (IID)~(d), (TV)-(c)

70819148756 ﬂ]'{c]r (HJ'{d]r ﬂln'{a].— ﬂvj-{h]

70819148757, (D-(@), (ID-(b), ([D-(c), (IV)-(d)

70819148758, 0P (1D-(@). (<), V)(d)

Question Number : 33 Question Id : 70819114651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
() Kamru (a) Victoria Memorial Hall
(IT) Delhi (b) Badrinath Temple
(IIT) Fatehpur Sikri (c)  Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

Options :
20819148759, D), (I-), (D), (IV)-(a)

70819148760, (D-(b), (ID-(d), (T)-(c), (IV)-(a)
20819148761, D), ()-(a), (D)-(b), (IV)-(d)

70819148762, -0 (D-@), (D), (IV)-(c)

Question Number : 33 Question Id : 70819114651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
SIfeTl-1 & A SifeTar-11 TS |

ifeTest-1 wiferai-11
(I === (a) TECETam aca@aE o
(Im) e (b) IWT T
(I Frezea e (c) =% wfEm
(IV) =re (d) o v
Options :

70819148759, V() (I)-(c), (IID-(d), (IV)-(a)

70819148760. (D-(P), (ID)-(d), (I)-(c), (IV)-(a)

20819148761, D), (I)-(@), (I)-(b), (IV)-(d)

70819148762. (D-(b), (I)-(a), (HD)-(d), (TV)-(c)

Question Number : 34 Question Id : 70819114652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819148763, D-(b), (ID-(c), (IID)-(a), (IV)-(d)

20819148764, D-@), (ID-(b), (IID)-(c), (IV)-(d)

70819148765, 1) (ID-(a), (1D-(d), (IV)-(b)

70819148766, V{P)- (ID-@), ([I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819114652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SifeTel-1 «@ ALY SifeTH1-11 TS|
wiferest-1 Siferel-11
@® ol (a)
(1) =G $o{Em (b)
(1) =T e (c)
(IV) e 9Fwa (d)
Options :

70819148763, 1-(B), (1)-(€), (D)-(a), (IV)-(d)



70819148764, (D-(@), (ID-(b), (D)-(c), (IV)-(d)

70819148765, M9 (-(a), (I1D-(d), (IV)-(b)

20819148766, V- (P) (ID-(@), (D)-(c), (IV)~(d)

Question Number : 35 Question Id : 70819114653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(IT)  Vishnu Temple (b) Amritsar
(ITI) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Buniyar
Options :

20819148767, (D). (I-(@), (ID-(b), (IV)-(a)

70819148768, (D-(©), (ID-(d), (IM)-(a), (IV)-(b)

20819148769, (D-(d), (ID-(b), ()-(c), (IV)-(a)

70819148770, (D-(b), (I)-(d), ([D)-(a), (IV)-(c)

Question Number : 35 Question Id : 70819114653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wifere-1 @@ A Sifers-11 s |

Siferai-1 Sifere-11
(1) aAwEE T (a) WA
(I fagp wra (b) Yo
() 2w () forrema
(IV) = W (d) IFEm
Options:

70819148767. (D-(c), (IL)-(d), (ID)-(b), (IV)-(a)

70819148768, (D-(), (I)-(d), (ID)-(a), (IV)-(b)

20819148769, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819148770, (D-(b), (I)-(d), (MD)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819114654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - 1 with List - 11.
List -1 List - 11

(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi

(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819148771. (D-(a), (II)}-(d), (IID-(b), (IV)-(c)

70819148772, (D-(d), (I)-(c), (ID-(a), (IV)-(b)

20819148773, (D-(d), (I)-(c), (LD)-(b), (IV)-(a)



20819148774, 9@ (D-(b), (ID-(d), (IV)-(c)

Question Number : 36 Question Id : 70819114654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifere-1 «a s wifers-11 e |

wiferel-1 wiferel-11
() TzEmsg gl (a) ZEEEW™
(I % wf (b) TG
(1) Tsmaceen pof (c) Ta@
(IV) =1 T3ferma (d) TR
Options :

20819148771, (D-@), ()-(d), (ID)-(b), (IV)-(c)

20819148772, (D-(d), (I)-(c), (D)-(a), (IV)-(b)

20819148773, DD, (1)-(c), ([ID)-(b), (V)-(a)

20819148774, 9@ (D-(b), (ID-(d), (IV)-(c)

Question Number : 37 Question Id : 70819114655 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options :

70819148775, B-V. Doshi

70819148776. Arundhati Roy



20819148777, Revali Kamat

70819148778, Dimal Patel

Question Number : 37 Question Id : 70819114655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

‘51T &% E A F5fb (FW TR gefefan wrE Tan ?
Options:

70819148775, -1<. T

70819148776, w e T

70819148777, S TS

70819148778. ' :

Question Number : 38 Question Id : 70819114656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options:

70819148779, Sujarat

70819148780, 'Vest Bengal

70819148781, Lamil Nadu



70819148782, Rajasthan

Question Number : 38 Question Id : 70819114656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QA T EETE Eee S e onew I 7
Options :

70819148779, ZFAL

70819148780, T ox A%
UL GG
70819148781. o

70819148782, ToE

Question Number : 39 Question Id : 70819114657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The monsoon wind enters in Indian sub-continent from which direction 7
Options :

70819148784. South-East side

70819148785, North side

70819148786, “cuth-West side



Question Number : 39 Question Id : 70819114657 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TS TRt TIPYH Y 34 e TS 203 F(A AA12S = 2
Options :
70819148783, ToA-"T4 fir%

70819148784, -7 i

70819148785, Uo7

70819148786, Tdl-#*5% i

Question Number : 40 Question Id : 70819114658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options :
70819148757, st Waayvan i Hhopal

70819148788. LIC Building in Delhi

70819148789. Charminar in Hyderabad

70819148790. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819114658 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
fosfatie fafeme ofea T =t St e toE sRpae 30a 2

Options :
70819148787, 9199 O 2 T

70819148788, - N2.571. fafFwe 2= i
70819148789, DANTA ZA ZRERT

20819148790, | SCI R TR E7 ool

Question Number : 41 Question Id : 70819114659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options :
70819148791. 420 x 590 (mm x mm)

70819148792, $20%59% (mm X mm)

70819148793, 297 %420 (mm x mm)

70819148794, 4207592 (mm > mm)

Question Number : 41 Question Id : 70819114659 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
A2%fA SiFE FsiEa & e = 2
Options :

70819148791, 420590 (Ff. xff)

70819148702, 420 %594 (AFL. xf.f)

70819148793, 297 %420 (R xff,)

70819148794, 420x592 (Rfa. xfa.f)

Question Number : 42 Question Id : 70819114660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options :
70819148795, Chittor fort

70819148796, J2igarh fort

70819148797. Bhangarh fort

7081914879g, ‘vmer fort

Question Number : 42 Question Id : 70819114660 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘fo%a rema’ o el 75fte =g 7



Options :

o= waf
70819148795. ~

70819148796, =37© T

70819148797, 0 ¢ Pl

70819148798. s

Question Number : 43 Question Id : 70819114661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :
70819148799, Samjay Puri

70819148800, ¥ ikram Lall

70819148801, Ashok Lall

70819148802, = “Ompura

Question Number : 43 Question Id : 70819114661 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ffafe geferm o 3 afsale wrma o’ S «fas FEce ?
Options :

70819148799, 7197 A



70819148800, & A

70819148801, 1o Ik FE

-

70819148802.

Question Number : 44 Question Id : 70819114662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819148803, Charles Correa

70819148804. Richard Mier

70819148805 Jasbir Sachdev

70819148806, Ramjit Sabliki

Question Number : 44 Question Id : 70819114662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Sferes fara’ sifba @ gefed ©o@ ?

Options :

70819148803. ~ i

70819148804, TOTC WA



70819148805, % :

70819148806, N EO T

Question Number : 45 Question Id : 70819114663 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Agenda 21" is declaration related with :

Options :

Climate change
70819148807.

70819148808, Clobal warming

70819148809, Esimate: cevelapraent

70819148810, Smart city

Question Number : 45 Question Id : 70819114663 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“eTE 217 TAREh ST A THAES ?

Options :
70819148807, 104 TS AIGIOe
70819148808, |74 TR

70819148809, TVCVZIICAA T



70819148810, T0 =

Question Number : 46 Question Id : 70819114664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gold mines are situated in which state of India ?
Options :

70819148811. Karnataka

70819148812, Orissa

70819148813, Maharashtra

70819148814. Uttar Pradesh

Question Number : 46 Question Id : 70819114664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

70819148811, FI6

70819148812, ‘I

oy

70819148813. "~ *

70819148814, 20 &C



Question Number : 47 Question Id : 70819114665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
In the Southern Hemisphere shadowless light is from which direction ?
Options :
70819148815, North

70819148816, “Cuth

70819148817, Cast

70819148818, "Vest

Question Number : 47 Question Id : 70819114665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WiaEel LAY BRI S T @ CATE AT 7
Options:

70819148815, %

70819148816, "

70819148817. ‘pr(f

70819148818.

Question Number : 48 Question Id : 70819114666 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

T .
70819148819. B.V. Doshi

70819148820, Laurie Baker

70819148821, & Rewal

70819148822, ‘:chyut Kanvinde

Question Number : 48 Question Id : 70819114666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A2 TIaer ¥l Afelam, R faheem g™ 2018 aowa Ty fare -

Options :

70819148819, [4-1%. T

70819148820, N4 (3FH

70819148821, & TAEE

70819148822, &S FHECT

Question Number : 49 Question Id : 70819114667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Word “Bungalow” has originated from :
Options :

70819148823, Bengalurm

70819148824, Banaras

70819148825, bengal

70819148826, Dari

Question Number : 49 Question Id : 70819114667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“Bungalow” WD (I BT AT AR 7
Options :

70819148823, “THIT

70819148824, T

70819148825, “7°

70819148826, T°

Question Number : 50 Question Id : 70819114668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The IIM - Ahmedabad is designed by which of the following Architect ?
Options :

70819148827, Laurie Baker



70819148828, Louis Kahn

70819148829, -utyen

70819148830, Le Corbusier

Question Number : 50 Question Id : 70819114668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
IIM - SRCMIAW T3l g4ife @ fesfars ?
Options :
70819148827, A CA

70819148828, 321 1=

70819148829. Cl

70819148830, 17 FHIIH

Question Number : 51 Question Id : 70819114669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given figure, how many squares are present ?

Options :



70819148831, 1#

70819148832, 13

70819148833, 12

70819148834, 18

Question Number : 51 Question Id : 70819114669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fermnfes foca o3 spee wfFs =g 2
Option:

70819148831, 1+
70819148832, 13
70819148833, 19
70819148834, 18

Question Number : 52 Question Id : 70819114670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options:
I ]
1 |
70819148835.
I
I
70819148836.
.
_I .-
| |
70819148837.
I | |
70819148838. m

Question Number : 52 Question Id : 70819114670 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e wie Paafe o Fa= o4 Braa 386 3-D e e T A valb w@re o |

Options :
I e
1 |
70819148835.
I
I
70819148836.
-
_I .-
| |-
70819148837.

70819148838.



Question Number : 53 Question Id : 70819114671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

- DE O
Options :

A
708191488309.

N
70819148840.

Il
70819148841.

70819148842.




Question Number : 53 Question Id : 70819114671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 572 <7l T Ter re rae TR Te | S ve five formm ey v o e
% |

-

Options :

A
70819148839.

N
70819148840.

I
70819148841.

70819148842.



Question Number : 54 Question Id : 70819114672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer i’igures Iooking in the direction of arrow.

—
I

Options :
70819148843.

L
70819148844.

[ 1
70819148845.

70819148846.



Question Number : 54 Question Id : 70819114672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o 0@ 00T T 7 10 TR TR o TorE TR SR T TeTe TRl ANGTE A0S
TRITE (@9 TheTd oed foaaf@ tare e foall 7ae 34

p—
|

Options :
70819148843.

L
70819148844.

[ 1
70819148845.
70819148846.

Question Number : 55 Question Id : 70819114673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

>

T

Options :

70819148847.

70819148848.

70819148849.

70819148850.

Question Number : 55 Question Id : 70819114673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 572 o T 7 10 TR Z0ace) A e TR Sitad e 1 TRITE T R

<>

T

Options:

70819148847.

70819148848.

70819148849.

70819148850.

Question Number : 56 Question Id : 70819114674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the ollowing answer fig_ures is hidden in prohlr_-m figurc- in same size and direction.
Select correct one.

Options :
70819148851. >
70819148852. D
70819148853. v
70819148854. ﬁ

Question Number : 56 Question Id : 70819114674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

femiree foaafem W e @3 BF 32 T 3 33 Seqd e o f5a 4% ond wE
Hio foafs ame2 e |

Options :

70819148851. §



70819148852. D
70819148853. ;
70819148854. ﬁ

Question Number : 57 Question Id : 70819114675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in problem figure in the same size and direction.
Select correct one.

Options :

70819148855.

70819148857.

W
70819148856. Q
0
N

70819148858.



Question Number : 57 Question Id : 70819114675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfee Padhm o e &l e @3t Tr «ae 33 SfeTe wike o1 ira 9¢ o w g |
Wi foafh I Fa |

Options :

70819148855.

70819148857.

W
70819148856. Q
0
N

70819148858.

Question Number : 58 Question Id : 70819114676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the [ ollowing answer figures is hidden in the pmhlc-m t’igurr_- insame size and direction.
Select the correct one.

Options :

70819148859.



N

70819148860. i
70819148861. :

70819148862. [>

Question Number : 58 Question Id : 70819114676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fmfes fonafm wu e 3 f5a @32 Trem 32 933 wfoary oiEe 4% 5@ 2 o =ie 7%
foas a3 o |

Options:

70819148859.

70819148861.

N
oo, C

A

>

70819148862.



Question Number : 59 Question Id : 70819114677 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :
70819148863. D
70819148864. D
70819148865. O
70819148866. f

Question Number : 59 Question Id : 70819114677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fmfEs haalm wy 1we @ e @3 Mer @2 «F W3 oiEs o g e oF ong | A0
foafs a3 T |

Options :

70819148863. D



70819148864. D

70819148865. O

70819148866. #

Question Number : 60 Question Id : 70819114678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the answer t’igures is correct mirror image of problc-m figuro with respect to
X-X?

X
O
[]
X
Options :
]
70819148867.

70819148868.



]
[l
]
70819148869
[
[]
70819148870,

Question Number : 60 Question Id : 70819114678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
ferfes foraa W T @ foafh T O o fora trea X-X wefd aifefafie Fat 7

X

O




Options :

70819148867.

70819148868.

708191488609.

70819148870.

Question Number : 61 Question Id : 70819114679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figuros is the correct mirror image of the problom t’iguro with
respect to X-X ?

N\
A

e N/
(D)
@J

AON
NZ;

70819148874.



Question Number : 61 Question Id : 70819114679 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s forea wow tute oW f5afh #ie g o fira trea X-X wole afefafae a7

X X

Options :

70819148871.

D)
N

70819148872.

¥,

e

70819148873.

AON
N2

70819148874.



Question Number : 62 Question Id : 70819114680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X?

7 X
Y/INN

/
N\ X
Options :
N
L /N\Y
N\
70819148875. /
N
NV
N\
70819148876. /
N
P
N/
70819148877. /[\

70819148878.



N4
AN

Question Number : 62 Question Id : 70819114680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feres f5raa T 1ate @ 5l s T o fora Traa X-X weid efefafae Fame ?

7 X
TN

N
7
N

Options :

NN

70819148875.

LA

70819148876.

70819148877.



70819148878.

Question Number : 63 Question Id : 70819114681 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the problem figure ? Select the
correct one.

Options :

70819148879.

70819148880.

70819148881.



N
S

70819148882.

Question Number : 63 Question Id : 70819114681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
% Toafbee o Face 2 Ten faanafe wure #e Hab aeE w1

Options :

74
70819148879.
70819148880.
70819148881. |

70819148882.



Question Number : 64 Question Id : 70819114682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819148883.

70819148884.

70819148885.

70819148886.



Question Number : 64 Question Id : 70819114682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 T57@ e 3-D 7B, Bt i Tt vt T Traa B foaafen tute wow f5afl e e

3

Options :

70819148883.

70819148884.

70819148885.

70819148886.



Question Number : 65 Question Id : 70819114683 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

/!

Options :

70819148887.

70819148888.

708191488809.



70819148890.

Question Number : 65 Question Id : 70819114683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 572 17w 3-D 785, B2 i 1t Thate (e T T aafen turs oo foafl e )

= =

/7

Options :

70819148887.

70819148888.



708191488809.

70819148890.

Question Number : 66 Question Id : 70819114684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

4

Options :

70819148891.

70819148892.

70819148893.

70819148894,



Question Number : 66 Question Id : 70819114684 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 572 Tre 3-D 7, Bt s e TRt (e 1A T aa@ e #os s e el

%

Options:

70819148891.

70819148892.

70819148893.



70819148894,

Question Number : 67 Question Id : 70819114685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/ﬂ

Options :

70819148895.

70819148896.

70819148897.

70819148898.



Question Number : 67 Question Id : 70819114685 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
o1 502 T/ 3-D 781, Saa 13 12013 TRATA T3 174 B e 123 s foas e e

/

Options :

70819148895.

70819148896.

70819148897.

70819148898.

Question Number : 68 Question Id : 70819114686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819148899.

70819148900.

70819148901.

70819148902.

Question Number : 68 Question Id : 70819114686 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 5@ Trew 3-D 785, Sitaa 79 TUTS TR (o hAITd ©ed haald e wiie foals e o)

7

Options :

70819148899.

70819148900.

70819148901.

70819148902.

Question Number : 69 Question Id : 70819114687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819148903.

70819148904.

70819148905.

70819148906.

Question Number : 69 Question Id : 70819114687 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 7@ Trew 3-D 745, itaa 79 1903 TR (oW AT bad SaafE e i fhafs W 9

i

Options :

70819148903.

70819148904.

70819148905.

70819148906.

Question Number : 70 Question Id : 70819114688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/1

Options :

70819148907. '

70819148908.

708191489009.

70819148910.

Question Number : 70 Question Id : 70819114688 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 7502 Traq 3-D 95, OTad 1@ 103 TwATE (@ (WA Ted TawfH tare e el e a9

/ﬂ

Options:

70819148907. '

70819148908.

708191489009.

70819148910.

Question Number : 71 Question Id : 70819114689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819148911. —I

70819148912. l

70819148913.

70819148914.

Question Number : 71 Question Id : 70819114689 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



of%| 7502 Tram 3-D T8, Braa e T TRITE (e thAITd Bad hawtH e e e e o

/I

Options :

70819148911. —I

70819148912. l

70819148913.

70819148914.

Question Number : 72 Question Id : 70819114690 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

4

Options :
L]

70819148915.

L]
70819148916.
70819148917. [:]

L]

70819148918.

Question Number : 72 Question Id : 70819114690 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o1 fota trea 3-D 7@, Btea frs 1ot Tvatet T Traa T foamass tars o foafl e e

y

7

Options :

70819148915.
70819148916.
70819148917.

70819148918.



Question Number : 73 Question Id : 70819114691 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

|
70819148919. L

|
70819148920. | |
70819148921. | |

||
70819148922. l

Question Number : 73 Question Id : 70819114691 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 7@ T7a® 3-D 7515, Oad 9 1U0@ T o thed B hawE e e fhafh wee o)

Options :

|
70819148919. | |

|
70819148920. | |
70819148921. | I

||
70819148922. |

Question Number : 74 Question Id : 70819114692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819148923.

70819148924,

70819148925.

70819148926.

Question Number : 74 Question Id : 70819114692 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o4 fora e 3-D 78 , O fre 1ate tRITE (oue Tree e Badfe e Wie Bl we
T |

4

Options :

70819148923.

70819148924.

70819148925.

70819148926.

Question Number : 75 Question Id : 70819114693 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819148927.

70819148928.

70819148929.

70819148930.

Question Number : 75 Question Id : 70819114693 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o 5@ e 3-D Thore ¥9a g 1208 T o TRTE ed gl rare Whie el e
T |

Options :

70819148927.

70819148928.

70819148929.

70819148930.

Question Number : 76 Question Id : 70819114694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819148931.

70819148932.

70819148933.

70819148934.

Question Number : 76 Question Id : 70819114694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

% 5@ s 3-D FH(E ¥4d e 10 TRITA 1o TR e foaafd tare wiie f5aft wre
Fiepe] |

Options :



70819148931.

70819148932.

70819148933.

70819148934.

Question Number : 77 Question Id : 70819114695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

70819148935.

70819148936.



=

70819148937.

=

70819148938.

Question Number : 77 Question Id : 70819114695 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o 5@ raT 3-D Thre Tor e (90 TRTE @ TRTE ©e feaafa e s fals e
3% |

Options:
70819148935.
70819148936.

70819148937.



=

=

70819148938.

Question Number : 78 Question Id : 70819114696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identifj.,-' the buﬂding compositions of having less visual tension amongst the fo[lnwing figurcs.

(A) (B)
(€ (D)
Options :

70819148939, () and (B)

(B) and (C)
70819148940.

70819148941, (©) and (D)

70819148942, (P) and (&)

Question Number : 78 Question Id : 70819114696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
S PSR WA T TG AT P GRS Sl AR Fag Ao Dasns Igy a6

(A) (B)
(€) (D)
Options :

70819148939, ) “1¢ (B)
70819148940, (B) 4T (©)
70819148941, (© % (D)
70819148042, () T (A)

Question Number : 79 Question Id : 70819114697 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

v vi—mHd
v —54
Options:

[T
70819148943.




70819148944,

70819148945.

70819148946.

Question Number : 79 Question Id : 70819114697 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o) 7@ Tram w4 <3l Tma 0o 7d 10 TR | @3 FEH0S Sad T TATE TRITA T TR
e foafs 7are a1

Options :

I
70819148943. |-|-

70819148944,

70819148945,

70819148946.



Question Number : 80 Question Id : 70819114698 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The prohlom f igure shows the top view of an ohjoct. ldontif}-' the correct elevation amongst
the answer figures looking in the direction of arrow.

[
\

Options :

70819148947.

70819148948.

2 2 4

70819148949.



70819148950.

Question Number : 80 Question Id : 70819114698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o) v e T4 @3l 7 Boa T 10 TR | 62 TEH(E Oad e 103 TRITE 13 TR
wie 52l e %1

/N

Options :

70819148947.

70819148948.

70819148949.



70819148950.

Planning
SectionId: 708191528
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191808
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819114699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?



Options :

70819148951, Automobile

70819148952, Clothing and Textile

70819148953, Lrinting

70819148954, Iron and Steel

Question Number : 81 Question Id : 70819114699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e W B dem eErEs s Aew @ 1| a2
Options :

70819148951, *1¢ @

70819148952, 3@ T3 1@

70819148953, 2 1=l

70819148954, €12 TS e

Question Number : 82 Question Id : 70819114700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of ___ released into the atmosphere.
Options:

70819148955, [Vitrogen



70819148956, Greenhouse gas

70819148957, ©zone

70819148958. Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819114700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TR S 271 ARG 6 wAfaae

Options :

70819148955, T2H0E

70819148956, 22T I

70819148957, ‘L&l A

70819148958, ST« JIFFeT

Question Number : 83 Question Id : 70819114701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panchgani

Mg 0w

Pahalgam
Arrange the above hill stations in the correct sequence from south to north in India.
Choose the correct answer from the options given below :

Options :



70819148959, E7D—=B—- A= C

70819148960, L7 B—=C—=D—A

70819148961, € A —>B—D—E

70819148962, * 7D~ C—B—E

Question Number : 83 Question Id : 70819114701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A, @WEEETE

B. g

C. &% 9g

D. sTeEsiE

E. #geem

T (HE *EASTHA TEATSd T (UTF TaEd AGE B AES |
e e cors e Ted arg |

Options :

70819148959, E7D—=B—-A—=C

70819148960, L7 B—-C—=D—A

70819148961, € 7A—>B—D—E

70819148962, * 7P > C—B—E

Question Number : 84 Question Id : 70819114702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Planning Commission in India has been replaced by :
Options :
70819148963, Mo HUA

70819148964, NITT Aayog

70819148965, NIUA

70819148966, [T

Question Number : 84 Question Id : 70819114702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Options :

70819148963, Mo HUA

70819148964, 1 ST

70819148965, NIUA

70819148966, LI

Question Number : 85 Question Id : 70819114703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone's Act enacted in India ?
Options :

70819148967, 2005



2

70819148968, 2007

70819148969, 2009

70819148970, 2011

Question Number : 85 Question Id : 70819114703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CoaITE ST (G 2w PCq TATS G 2 ?
Options :

70819148967, 2005

70819148968, 2007

70819148969, 2009

70819148970, 2011

Question Number : 86 Question Id : 70819114704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options :
70819148971 Mational Horticulture Association of India.

70819148972. National Heritage Authority of India.



70819148973, National Hydroelectric Power Authority of India.

70819148974. National Highway Authority of India.

Question Number : 86 Question Id : 70819114704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a7 @25 @ =12 -7 e T e 7 A Tea e w9

Options :
70819148971, “IE ZHITEAST WA wRF Zfe|

70819148977, “IHIE 2AEE wfaft o 2fe |

70819148973, I FBLGRAFGE ASHE SAAG o 2fem |

70819148974, W 2126 wefaf o Ffem)

Question Number : 87 Question Id : 70819114705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?
Options :

70819148975, 19
70819148976. 16
70819148977, 17

70819148978, 18



Question Number : 87 Question Id : 70819114705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SRS M- @ FooE FiENE Same 7 W ?
Options :

70819148975, 15

70819148976. 16

70819148977, 17

70819148978, 18

Question Number : 88 Question Id : 70819114706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which vear, the first industrial policy by Government of India was announced ?
Options :

70819148979, 1947
70819148980, 1948

70819148981, 1950

70819148982, 1949

Question Number : 88 Question Id : 70819114706 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TACS (@ A%A 2N Fgete carEen 23 7
Options :

70819148979, 1947

70819148980, 1948

70819148981, 1950

70819148982, 1949

Question Number : 89 Question Id : 70819114707 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning of Barcelona city in Spain is known for its :
Options :

70819148983, Superblocks

70819148984, radial pattern

70819148985. high rise development

70819148986 waterbased TIHI'ISPDI‘T.

Question Number : 89 Question Id : 70819114707 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(ol & AT *Zaa “faaee & s «f@be 2



Options :

70819148983, 4 NG
70819148984, CAGATE #(7THT
70819148985, 22 TZH (CLEaA#TTs

70819148986, TA#e #faaze|

Question Number : 90 Question Id : 70819114708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :
70819148987, Durgapur

T AT,
70819148988, Vishakhapatnam

70819148989. Bhubaneshwar

70819148990, Bhilai

Question Number : 90 Question Id : 70819114708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEIG %5 *128 74 7
Options:

70819148987, 17



70819148988, 1S TITER

70819148989, £IwT44

70819148990, T=#12

Question Number : 91 Question Id : 70819114709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options :
70819148991, AMRUT

70819148992. Make in India

70819148993, HRIDAY

70819148994. e

Question Number : 91 Question Id : 70819114709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIS FAIFCAT (F« schemes/ programmers AfszpEnat *mraa e TF 7
Options :

70819148991, “HFS

70819148992, @ 2 Zfe

70819148993, 2™



70819148994, &

Question Number : 92 Question Id : 70819114710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :
70819148995, Tamil Nadu

70819148996. Karnataka

70819148997. Andhra Pradesh

70819148998, Kerala

Question Number : 92 Question Id : 70819114710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(T PR SO ACE (A GASE He FACATE (@9 A2 2 (oS 4T) ?

Options:

70819148995, g

70819148996, ¥

70819148997, &L

70819148998, “FI4



Question Number : 93 Question Id : 70819114711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options:

70819148999, 1886

70819149000. 1876

70819149001, 1866

70819149002, 1896

Question Number : 93 Question Id : 70819114711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Options:

70819148999, 1886
70819149000 1876

70819149001, 1866

70819149002, 1896

Question Number : 94 Question Id : 70819114712 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73'd amendment act (734 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819149003, Lok Sabha

70819149004. State Lc-gisla’rive Assomhlj,-'

70819149005, Cabinets

70819149006, Lanchayati Raj bodies

Question Number : 94 Question Id : 70819114712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
73 O AT o (73 CAA) 1992 SRPITA THHE (F-Fomge TRATH G weeired
(AT AP HEES ST 7

Options :

70819149003, FTFTo

70819149004, F96 FEILAGS SIT7HA

70819149005, FNACG

70819149006, | HICHS & Y

Question Number : 95 Question Id : 70819114713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Map Reading,

S Water body Market il
ﬁ?‘m Vegetation m Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital i,

e 205
- 200

Street C

= 200

-----

1 || B 210
s

o
&

o Contour N

G School

With reference to the diagram, choose the correct statement.

Options :

70819149007.

70819149008.

708191490009.

70819149010.

Slope of land on which school is located is flatter than the slope of land on which
hospital is located.

SIOpe of land on which polico station is located is steeper than the slope of land on
which school is located.

Slope of land on which school is located is steeper than the slope of land on which
temple is located.

Slope of land on which school is located is the same as the slope of land on which
temple is located.

Question Number : 95 Question Id : 70819114713 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT S

et 210

et 205
= 200

Street C

S Water body Market Contour N
Vegetation m Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital

Options :

70819149007, & BHTS F& WL, TG, (1 GRS IS SR SR (5UH 39 |
20819149008, @ TICS AfeF1 G4 WCR, O UF, (@ GRS F1 SR O C5CH 4|

70819149009, (@ TS F7 W b1, @ HWCS Nwa SR ST (5 AT |

20819149010, T € WA TG B A |

Question Number : 96 Question Id : 70819114714 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

i
" p
é Y
}: ¢
_ wn 210
__________ 205
deem | e 200
Street C
. 200
.'"‘“
T 205
o 210
015

Water body Market Contour N
Vegetation % Police Station | [<] |Temple
E Railway Stn ”II:I:HII] Hospital ] School

[n the given diagram, for a person to travel from railway station to temple, one will have to
move in direction.

Options :

70819149011, North

70819149012, North - East

70819149013, South - West

70819149014, East



Question Number : 96 Question Id : 70819114714 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT EETE -
|
P =)
® =
@ =
ok A 210
___________ 205
200
E Street C
7L
T 205
..... 210
215

i Water body Market Contour N
Vegetation % Police Station Temple
E Railway Stn [IIIIIII:I] Hospital School

TS 5 T TfF (@@ oW AT I e @are . e e 7@

Options :

70819149011, T4

70819149012. vaq [

70819149013, 7% A5

70819149014, &



Question Number : 97 Question Id : 70819114715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Map Reading.

In the given

Options :

70819149015.

70819149016

70819149017.

70819149018.

it r Water body Market
5% Vegetation % Police Station

Street C

. 200

Contour N

Temple

T School

diagram, water body is located at a level :

5 m higher than police station.

5m highr_-r than school.

same level as police station.

same level as school.



Question Number : 97 Question Id : 70819114715 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
N SR

wett 210

et 205
==t 200

Street C

Water body Market Contour N
’:.;.. = 1""'r‘:'g':lra-’:i‘j‘]--.- % ].Jﬂj.i'fl:' Etatiﬂn ']_'(_hm]_j]_c
E Railway Stn [I:I:I:I:III:I] Hospital T School

T f5ra TS (T (FeA - SRS 7

Options :

70819149015. ":1|-“151 GO (5 5 m B#d|

70819149016, £ C4CF 5 m T |

70819149017, 7 CWIA (FLSA |

70819149018, X7 (FLetad ALY I3 (FLoa -4 |



Question Number : 98 Question Id : 70819114716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category stud}-'i_ng al highor
secondary to those in college is :

Options :
70819149019, 4:1
70819149020, 12

70819149021, 6 :1

70819149022, 1:4

Question Number : 98 Question Id : 70819114716 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Trwa 1% 5t warm AR o weere % NUE ¥e ©f% @32 F0es A distribution
(74T TR

(40%)
MIG

&% T et
LIG Rens % TG @ F0aE-4 [ T e :
Options :

70819149019, 41

70819149020, 1:9

70819149021, 6:1

70819149022, 1:4

Question Number : 99 Question Id : 70819114717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km2. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :
70819149023, The density of population in urban area is 1000 persons/sq.km.

20819149024. The density of population in urban area is 849 persons/sq.km.

70819149025, The density of population in urban area is 4290 persons/sq.km.



20819149026, The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819114717 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

+ff@t ghrpaa wa 510 fifera km? | e TRATHA 30% Fop | =200 Wl TSI GF PORIH,
ey Temea 7.8 ffemm @@2 55% Al S CoyE Ted FRf 94 |

Options :

70819149023, 8 wvag 1000/sq-km.

70819149024, %A BT 849/sq.km.

20819149025, 2 TeEE 4290/ sq.km.

70819149026, 127 SR 7800/sq Jem.

Question Number : 100 Question Id : 70819114718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819149027. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819149028, Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819149029 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819149030. increase.

Question Number : 100 Question Id : 70819114718 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1981-2011 374 A, B «[@2 C *&dd S=934T

C
2m B |

C
2001 B

C
1991 B [

C |
1981 B |

| | | | |
I I I I I
5,000 10,000 15,000 20,000 25,000

0
AGe TEas fafoa <4
Options :

20819149027, T2 A, 1981 CTF 2011-& GPHLAT I orm TR *ma C o g orm

A L o =
20819149028, T B, 1981 (X% 2011-¢ GFOE TN P (A, QAT A I @ |

1981 (L3 2001-@ AfS WILF A 1203 TP ATCR, B (TR 1981 (ACF 1991 Gaiedl
20819149029, V& €A% T2 1991 (ATF 2001 (T AT |

20819149030, T2 C fAfSH Wt Tepieama Fers e (M, @1 B 3 ¢ |

Question Number : 101 Question Id : 70819114719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

3 1
70819149031, 26 kmhr

70819149032, 21.5 kmhr ™!

70819149033, 30 kmhr~!

1
70819149034. 28.5 kmhr

Question Number : 101 Question Id : 70819114719 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1005 snfEa siferasi- a9 @l Farwy snfeq sferas) @ s1ea Rew fmEe GRahre @ea o)

sfeq s1ferast (km/hr) a1feq 722
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1
Options :

: 1
70819149031, 26 kmhr

70819149032, 21.5 kmhr ™!

70819149033, 30 kmhr~!

1
70819149034, 25 kmhr

Question Number : 102 Question Id : 70819114720 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.

Others argue r_l‘ne}-' raise awareness and prf}vide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :



70819149035, As a charity by privileged people.

70819149036. Asa way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819149037, ) p & )

70819149038. As an adventure activity.

Question Number : 102 Question Id : 70819114720 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :
70819149035, As a charity by privileged people.

70819149036. As a way to reduce crime.

As a wav to sensitize travellers about poor living conditions in the society.
70819149037, ) p & )

70819149038, As an adventure activity.

Question Number : 103 Question Id : 70819114721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819149039, Learning

70819149040, ~tATing

70819149041, Feeping

70819149042, Gloating

Question Number : 103 Question Id : 70819114721 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers”. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’” in this paragraph would be :
Options :

70819149039, Learning

70819149040, ~tATiNg



70819149041, feeping

70819149042, Gloating

Question Number : 104 Question Id : 70819114722 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decreaqi_ng.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :
Options :

70819149043, Both A and R are true and R is the correct explanation of A

70819149044, Both A and R are true but R is NOT the correct r_-xpla_natinn of A

70819149045, A is true but R is false

A is false but R is true
70819149046.

Question Number : 104 Question Id : 70819114722 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s i Frarg rem wg | @3 e A Za wag werfs f5fFs R 2 |
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Options:



70819149043, () G2 (R) TOR 0% @ (R) HoF |

20819149044, A) €% (R) Towz 723 58 (R) 2% amam ==

70819149045, (A) 7o% &% (R) 7% 7|

20819149046, (A) 7oF 7 52 (R) 51T |

Question Number : 105 Question Id : 70819114723 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.

Reason R : Increasing number of married couples do not want to have children.

In the light of the above statements, choose the correct answer from the options given below :
Options :
20819149047 Both A and R are true and R is the correct explanation of A

70819149048, Both A and R are true but R is NOT the correct explanation of A

70819149049, A istrue but R is false

70819149050, A 15 false but Riis true

Question Number : 105 Question Id : 70819114723 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819149047, &) T2 (R) TEwE AoF @32 (R) o T

(A) @@ (R) Tews A fer (R) Ao amem )
70819149048.

70819149049, (A) 712F &2 (R) 57 711

70819149050, () ToF 7 752 (R) 707
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Question Number : 106 Question Id : 70819114724 Question Type : SUBJECTIVE

Correct Marks : 50



Draw a proportionate skelch of given reference image by using any black and white rendering
tedquues of your own choice.

OR

Decode image and prepare balanced composition in a frame of your choice by using any
black and white rendering techniques.

Question Number : 106 Question Id : 70819114724 Question Type : SUBJECTIVE

Correct Marks : 50
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Question Number : 107 Question Id : 70819114725 Question Type : SUBJECTIVE
Correct Marks : 50

Draw a scene of a Kite festival by using colors.

OR
Draw a Harmonic three dimensional composition with the following two types of objects.
(i) CUBOID A :SIZE 2 cmX 2 ¢cm X2 cm, 5 Nos.
(i) CUBOIDB:SIZE5 cmx2 cmx 2 cm, 4 Nos.
Use “Cool Colorscheme” for composition.

Question Number : 107 Question Id : 70819114725 Question Type : SUBJECTIVE
Correct Marks : 50
S Tewad @l 71 527 % 3341 3¢ 3999 FA|
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(i) T A W 2 cmx 2 cm X 2 em, 561
(i) THB:TH 5 cmx2cmx2cm, 48
"B e’ @7 9T T



